
MATHS

BOOKS - MODERN PUBLICATION MATHS

(KANNADA ENGLISH)

PROBABILITY

Multiple Choice Questions Level I

1. The three digit numbers are formed using the digits

0,2,4,6,8 . A Number is chosen at random out of these

numbers . What is the probability that this number has the

same digits ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4LWMtDm2X6ao


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

16

16

25

1

645

1

25

2. Three squares of chess board are selected at random . The

probability of getting 2 squares of one colour and other of a

different colour is :

A. 

B. 

16

21

8

21

https://dl.doubtnut.com/l/_4LWMtDm2X6ao
https://dl.doubtnut.com/l/_Ur6hgKBHUpYF


C. 

D. 

Answer: A

Watch Video Solution

3

32

3

8

3. If A and B are any two events having

 then the probability of 

 is :

A. 

B. 

C. 

D. 

P (A ∪ B) = and P(
→
A ) = ,

1

2

2

3

¯̄̄A ∩ B

1

2

2

3

1

6

1

3

https://dl.doubtnut.com/l/_Ur6hgKBHUpYF
https://dl.doubtnut.com/l/_cVxkLGMUI9Ct


Answer: C

Watch Video Solution

4. Three of the six vertices of a regular hexagon are chosen at

random . What is probability that the triangle with these

vertices is equilateral ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3

10

3

20

1

20

1

10

https://dl.doubtnut.com/l/_cVxkLGMUI9Ct
https://dl.doubtnut.com/l/_AIYQOtLydjnt


5. If A,B,C are three mutually exclusive and exhaustive events

of an experiment such that :  then

P(A) is equal to :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3P (A) = 2P (B) = P (C)

1

11

2

11

5

11

6

11

https://dl.doubtnut.com/l/_AIYQOtLydjnt
https://dl.doubtnut.com/l/_YEvfO6LwiWbC


6. Let A and B be two events .If P(A) = = 0.2 P(B) 0.4 ,

 then P(A/B) is equal to :

A. 0.8

B. 0.5

C. 0.3

D. 0

Answer: D

Watch Video Solution

P (A ∪ B) = 0.6

7. Let A and B be two events such that P(A) = 0.6 , P(B) = 0.2

and P(A/B) = 0.5 , Then P(A/B) is equal to :

https://dl.doubtnut.com/l/_3PzYZj3brfiG
https://dl.doubtnut.com/l/_W8wg3SLs5uLu


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

10

3

10

3

8

6

7

8. If A and B are independent events such that

, then which of the

following is not correct ?

A. A and B are mutually exclusive

B. A and B are independent

0 < P (A) < 1 and 0 < P (B) < 1

https://dl.doubtnut.com/l/_W8wg3SLs5uLu
https://dl.doubtnut.com/l/_RFTxPC5tHQJy


C. A'and B are independent

D. A and B are independent

Answer: A

Watch Video Solution

9. Let X be a distance random variable assuming values

 with probabilities 

respectively . The variance of X is given by :

A. 

B. 

C. 

D. 

x1, x2, ……. , xn p1, p2…. . pn

E(X2)

E(X2) + E(X)

E(X2) − [E(X)]2

√(E(X2) − [E(X2)])

https://dl.doubtnut.com/l/_RFTxPC5tHQJy
https://dl.doubtnut.com/l/_HQ6mFn3vCXVP


Answer: C

Watch Video Solution

10. 4 persons are selected at random from a group of 3 men ,

2 women and 4 children . The probability that exactly two of

them are children is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

9

21

10

21

10

23

https://dl.doubtnut.com/l/_HQ6mFn3vCXVP
https://dl.doubtnut.com/l/_DaF751Q8xo3J


11. In a single throw of two dice the chance of throwing a sum

of 8 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7/36

5/36

1/9

1/18

12. A positive integer is chosen at random . The probability

that sum of the digits of its square is 33 is :

https://dl.doubtnut.com/l/_DaF751Q8xo3J
https://dl.doubtnut.com/l/_ECVHYeQdVMaG
https://dl.doubtnut.com/l/_EHaTFweFgIUc


A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

1

11

1

33

2

33

13. The probability that a leap year selected at random will

contain 53 Sundays or 53 Mondays is :

A. 

B. 

C. 

2

7

3

7

4
7

https://dl.doubtnut.com/l/_EHaTFweFgIUc
https://dl.doubtnut.com/l/_fh38R7ZZAfj6


D. 

Answer: B

Watch Video Solution

5

7

14. Two persons A and B appear in an interview for two

vacancies . If the probability of their selection are 

respectively , then probability that none of them is selected is

:

A. 

B. 

C. 

D. 

and
1

4

1

6

1

24

5

12

5

8

19

12

https://dl.doubtnut.com/l/_fh38R7ZZAfj6
https://dl.doubtnut.com/l/_MjbnEHe6F17i


Answer: C

Watch Video Solution

15. Three letters are sent to different persons and addresses

on the three envelopes are written at random . The

probability that the letters go into the right envelops is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1

27

1

6

1

4

https://dl.doubtnut.com/l/_MjbnEHe6F17i
https://dl.doubtnut.com/l/_Tzjw3SsByKyf


16. A bag contains n coupons marked 1,2,3 , …. , n .If two

coupons are drawn , then the chance that the difference of

the coupons exceeds m ( les than n - 1) is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(n − m)(n + m − 1)

n(n − 1)

(n − m)(n − m − 1)

n(n − 1)

(n + m)(n + m − 1)

n(n − 1)

https://dl.doubtnut.com/l/_Tzjw3SsByKyf
https://dl.doubtnut.com/l/_W1MbeI3o8LQw


17. Probabilities that a plant will live is  and the probability

that another plant lives is  . The probability that only one

of them lives is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

3

4
1

3

7
12

1

4

1

6

18. A sample space consists of three mutually independent

and equally likely events . The probability of happening of

https://dl.doubtnut.com/l/_da6ElX4nFfrR
https://dl.doubtnut.com/l/_ZlUfKH5quBnj


each one of the them is equal to :

A. 0

B. 

C. 1

D. None of these

Answer: B

Watch Video Solution

1

3

19. For any two independent events  in a space S , 

 is :

A. 

B. 

E1 and E2

P[(E1 ∪ E2) ∩ (¯̄¯̄E1 ∩ ¯̄̄E 2)]

≤
1

4

>
1

4

https://dl.doubtnut.com/l/_ZlUfKH5quBnj
https://dl.doubtnut.com/l/_nnCRGBXrjzvQ


C. 

D. 

Answer: A

Watch Video Solution

≥
1

2

>
1

2

20. One bag contains 6 blue and 5 green balls and another

bag contains 7 blue and 4 green balls . Two balls are drawn ,

one from each bag . The probability of both being blue is :

A. 

B. 

C. 

D. 

42
121

20

121

3

11

2

11

https://dl.doubtnut.com/l/_nnCRGBXrjzvQ
https://dl.doubtnut.com/l/_SOMGq4zmIla7


Answer: A

Watch Video Solution

21. For any two events A and B ,  is :

A. Less than 

B. Greater than 

C. Equal to 

D. Equal to 

Answer: C

Watch Video Solution

P (A ∩ B)

P (A) + P (B) − 1

P (A) + P (B)

P (A) + P (B) − PP (A ∪ B)

P (A) + P (B) + P (A ∪ B)

https://dl.doubtnut.com/l/_SOMGq4zmIla7
https://dl.doubtnut.com/l/_RY5oQbV2kLUJ


22. Tickets are numberes 1 to 100 . They are well - shuffled and

a ticket is drawn at random . Probability that the drawn ticket

has a number 5 or a multiple of 5 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

10

1

5

1

25

1

2

23. There are two boxes . One box contains 3 white balls and

2 black balls . The other box contains 7 yellow balls and 3

https://dl.doubtnut.com/l/_aCsVw6jlePqs
https://dl.doubtnut.com/l/_n8m8l49EyA9M


black balls . If a box is selected at random and from it , a ball

is drawn , the probability that the ball is black is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7
20

1

5

3

20

1

3

24. If the probability that A and B will die within a year are p

and q reapectively , then the probability that only one of

them will be alive at the end of the year is :

https://dl.doubtnut.com/l/_n8m8l49EyA9M
https://dl.doubtnut.com/l/_kgxexleqciIA


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p + q

p + q − 2pq

p + q + pq

p + q − pq

25. The chance of throwing an ace in the first out of two

successive throws with an ordinary dice is :

A. 

B. 

C. 

1

6

5

36

1

36

https://dl.doubtnut.com/l/_kgxexleqciIA
https://dl.doubtnut.com/l/_kp0LjLCTUGnY


D. 

Answer: B

Watch Video Solution

25

36

26. A and B are two events such that 

then  is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P (A) > 0, P (B) ≠ 1

P( ¯̄̄A / ¯̄̄B)

1 − P (A /B)

1 − P( ¯̄̄A /B)

1 − P (A ∪ B)

P(¯̄̄B)

P( ¯̄̄A)/P(¯̄̄B)

https://dl.doubtnut.com/l/_kp0LjLCTUGnY
https://dl.doubtnut.com/l/_wKlTX9tfj1m8


Watch Video Solution

27. A coin is tossed three times in succession . If E is the event

that there are atleast two heads and F is the event in which

first throw is a head , then P(E/F) =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3/4

3/8

1/2

1/8

https://dl.doubtnut.com/l/_wKlTX9tfj1m8
https://dl.doubtnut.com/l/_UHZm2uiL0C5M


28. If from each of the three boxes containing 3 white and 1

black , 2 white and 2 black , 1 white and 3 black balls , one ball

is drawn at random , then the probability that 2 white and 1

black ball will be drawn is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

13/32

1/4

1/32

3/16

https://dl.doubtnut.com/l/_3j9cmeCIIvSZ


29. A fair coin is tossed repeatedly . If tail appears on first

four tosses, then the probability of head appearing on fifth

toss equals :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/32

31/32

1/5

30. If  are complementary events of events E and F

respectively and  , then :

¯̄̄E and ¯̄̄F

0 < P (F ) < 1

https://dl.doubtnut.com/l/_Vf4QnlLTrBRd
https://dl.doubtnut.com/l/_mNBYoOGAYNIE


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

P (E/F ) + P( ¯̄̄E /F) = 1 or P(E/ ¯̄̄F ) + P( ¯̄̄E / ¯̄̄F ) = 1

P (E/F ) + P(E/ ¯̄̄F ) = 1

P( ¯̄̄E /F) + P(E/ ¯̄̄F ) = 1

31. If E and F are events with

 then :

A. occurrence of E  occurrence of F

B. occurrence of F  occurrence of E

P (E) ≤ P (F ) and P (E ∩ F ) > 0

⇒

⇒

https://dl.doubtnut.com/l/_mNBYoOGAYNIE
https://dl.doubtnut.com/l/_pQSvJMI2xQou


C. non occurrence of E  non occurrence of F

D. None of the above implication holds .

Answer: D

Watch Video Solution

⇒

32. For any two independent events

 is

A. 

B. 

C. 

D. None of these

Answer: A

E1 and E2, P{(E1 ∪ E2) ∩ ( ¯̄̄E 1 ∩ ¯̄̄E 2)}

≤
1

4

>
1

4

≥
1

2

https://dl.doubtnut.com/l/_pQSvJMI2xQou
https://dl.doubtnut.com/l/_05FNcShg4ZVQ


Watch Video Solution

33. For any two events A and B , 

 is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

P (A ∪ B) ∩ ( ¯̄̄A ∩ ¯̄̄B)

≤
1

3

>
1

3

>
1

2

≥
1

2

https://dl.doubtnut.com/l/_05FNcShg4ZVQ
https://dl.doubtnut.com/l/_DmYVHEB3psEI


34. A card is drawn at random from a pack of 100 cards

numbered 1 to 100 . The probability of drawing a number

which is a square is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

1/5

2/5

1/10

35. From a well shuffed pack of playing cards , two cards are

drawn one by one with replacement . The probability that

https://dl.doubtnut.com/l/_AIF0kIibrvzx
https://dl.doubtnut.com/l/_V88nuzVmP5rM


both are aces is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

2/13

1/51

1/221

36. In tossing 10 coins , the probability of getting exactly 5

heads is :

A. 

B. 

9

128

63

256

https://dl.doubtnut.com/l/_V88nuzVmP5rM
https://dl.doubtnut.com/l/_rZSDIX633RHK


C. 

D. 

Answer: B

Watch Video Solution

1

2

193

256

37. A binomial probability distribution is symmetrical if p, the

probability of success in a single trial is :

A. less than 

B. greater than 

C. equal to 

D. less than q, where q = 

Answer: C

1

2

1

2

1

2

1 − p

https://dl.doubtnut.com/l/_rZSDIX633RHK
https://dl.doubtnut.com/l/_EMsUiTDIGwM9


Watch Video Solution

38. Let X and Y be two random varibles . The relationship E

(XY)= E(X) E(Y) holds :

A. Always

B. If (X+Y) = E(X) +E(Y) is true

C. If X and Y are are independent

D. If X cn be obtained from Y by a linear transformation .

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EMsUiTDIGwM9
https://dl.doubtnut.com/l/_Rk0mP6e3mibL


39. If X denotes the number of sixes in four consecutive

throws of a dice , then P (X=4) is :

A. 

B. 

C. 1

D. 

Answer: A

Watch Video Solution

1

1296

4
6

1295

1296

40. If the mean of the binomial distribution is 20 and

standard deviation is 4 , then the number of events is :

https://dl.doubtnut.com/l/_hlwEuoXRBB9E
https://dl.doubtnut.com/l/_iYraVphH01nA


A. 50

B. 25

C. 100

D. 80

Answer: C

Watch Video Solution

41. If mean of a binomial distribution is 3 and its variance is

 , then number of trials is :

A. 6

B. 2

C. 12

3

2

https://dl.doubtnut.com/l/_iYraVphH01nA
https://dl.doubtnut.com/l/_Cd2xFHODWRuN


D. None of these

Answer: A

Watch Video Solution

42. If the mean of a Poisson's Distribution is  , then is

standard deviation is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

λ

λ

λ2

√λ

1

λ

https://dl.doubtnut.com/l/_Cd2xFHODWRuN
https://dl.doubtnut.com/l/_qoMdj5Gpcj7R


43. A coin is tossed 8 times . The probability of getting a head

three times is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7
16

7
64

7
128

7
32

44. One hundred identiacal coins , each with probability p of

showing up heads are tossed once . If  and the0 < p < 1

https://dl.doubtnut.com/l/_qoMdj5Gpcj7R
https://dl.doubtnut.com/l/_rOS2hFzQHK0s
https://dl.doubtnut.com/l/_x4JCn9YkaEwT


probability of heads showing on 50 coins is equal to that of

heads showing on 51 coins , then value of p is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

49
101

50

101

51

101

45. The total area under the standard normal curve is :

A. 

B. 2

1

2

https://dl.doubtnut.com/l/_x4JCn9YkaEwT
https://dl.doubtnut.com/l/_372URqkK3MqT


C. 1

D. None of these

Answer: C

Watch Video Solution

46. The mean and variance of a binomial variate X are 2 and 1

respectively , then the probability that X takes a value greater

than is :

A. 

B. 

C. 

D. 

2/3

4/5

7/8

15/16

https://dl.doubtnut.com/l/_372URqkK3MqT
https://dl.doubtnut.com/l/_f4pDtMGVPoXq


Answer: D

Watch Video Solution

47. Two dice are thrown , the probability that the sum of the

points on two dice will be 7 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

26

6

36

7
36

8

36

https://dl.doubtnut.com/l/_f4pDtMGVPoXq
https://dl.doubtnut.com/l/_8qSQmL2YHCS1
https://dl.doubtnut.com/l/_femLbWlf8oWI


48. In 324 throws of 4 dice , the expected number of times

three sixes occur is :

A. 81

B. 31

C. 5

D. 9

Answer: C

View Text Solution

49. A random variable X is specified by the following

distribution law : 

https://dl.doubtnut.com/l/_femLbWlf8oWI
https://dl.doubtnut.com/l/_u2iYhWvN8sCK


 


Then the variance of this distribution is :

A. 0.6

B. 0.7

C. 0.77

D. 0.55

Answer: A

Watch Video Solution

x 2 3 4

P (X = x) 0.3 0.4 0.3

50. A random variable X has the following probality

distribution : 

then the value of a is :

x : 0 1 2 3 4 5 6 7 8

P (X = x) a 3a 5a 7a 9a 11a 13a 15a 17a

https://dl.doubtnut.com/l/_u2iYhWvN8sCK
https://dl.doubtnut.com/l/_WX2JWR9EOOkw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

81

2

81

5

81

7
81

51. A box contains 100 bulbs, out of which 10 are defective. A

sample of 5 bubls is drawn. The probability that none is

defective is

A. 

B. 

10− 5

( )
5

1
2

https://dl.doubtnut.com/l/_WX2JWR9EOOkw
https://dl.doubtnut.com/l/_aJrTUkzdnLta


C. 

D. 

Answer: C

Watch Video Solution

( )
5

9

10

9

10

52. If the mean and variance of a binomial distribution are 2

and  , then the value of P (X = 0) is :

A. 

B. 

C. 

D. 

4
3

64/729

8/729

1/729

1/8

https://dl.doubtnut.com/l/_aJrTUkzdnLta
https://dl.doubtnut.com/l/_3XdXrHPSoduf


Answer: A

Watch Video Solution

53. The probability that an event A happens in one trial of an

experiment is 0.40 . Three independent trials of the

experiment are performed . The probability that the event A

happens at least once is :

A. 

B. 

C. 

D. None of these

Answer: B

h id l i

0.936

0.784

0.904

https://dl.doubtnut.com/l/_3XdXrHPSoduf
https://dl.doubtnut.com/l/_N3iCRTJj2s42


Watch Video Solution

54. The mean and S.D of a Binomila distribution are

respectively 10 and 2 . Then the value of q is :

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.8

0.6

0.4

https://dl.doubtnut.com/l/_N3iCRTJj2s42
https://dl.doubtnut.com/l/_s8DMjr1Uxyds


55. The probability that a person will hit a target in shooting

practices is 0.3 . If he shoots 10 times , then the probability of

his shooting the target is :

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

1 − (0.7)10

(0.7)10

(0.3)10

56. A random variable x has the following point distribution : 

 

x : 0 1 2 3 4 5 6 7

p(x) : 0 p 2p 2p 3p p2 2p2 7p2

https://dl.doubtnut.com/l/_nvXUDdZUyoy6
https://dl.doubtnut.com/l/_IivLHcRtFVDC


+p 

The value of p is :

A. 

B. 

C. 

D. complex number

Answer: C

Watch Video Solution

−
1

10

−1

1

10

57. A random variable X is defined by :

 

Then E(X) is :

X =

⎧⎪
⎨
⎪⎩

3  with probability = 1/3

4  with probability = 1/4

12  with probability =5/12

https://dl.doubtnut.com/l/_IivLHcRtFVDC
https://dl.doubtnut.com/l/_7hfIlkbD0gNh


A. 6

B. 7

C. 5

D. 8

Answer: B

Watch Video Solution

58. An unbiased die with faces marked 1,2,3,45 and 6 is rolled

four times . Out of four values obtained , the probability that

the minimum face value is not less than 2 and the maximum

face value is not greater than 5 is :

A. 
16

81

https://dl.doubtnut.com/l/_7hfIlkbD0gNh
https://dl.doubtnut.com/l/_lXj3neFL7wwh


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

81

80

81

65

81

59. A bag contains 5 brown and 4 white socks . A man puuls

out two socks : The probability that these are of the same

colour is :

A. 

B. 

C. 

5

108

18

108

30

108

https://dl.doubtnut.com/l/_lXj3neFL7wwh
https://dl.doubtnut.com/l/_M6wMN2tXmLtU


D. 

Answer: D

Watch Video Solution

48
108

60. Dialing a telephone number an old man forgets the last

two digits remembering only that these are different ,

dialling at random . The probability that the number dialled

coorectly is :

A. 

B. 

C. 

D. None of these

1

45

1

90

1

100

https://dl.doubtnut.com/l/_M6wMN2tXmLtU
https://dl.doubtnut.com/l/_9z5AZEkIZzLM


Answer: B

Watch Video Solution

61. A coin is tossed three times 

Events A : two heads come 

Event B : last should be head . 

Then A and B are :

A. independent

B. dependent

C. both

D. None of these

Answer: B

https://dl.doubtnut.com/l/_9z5AZEkIZzLM
https://dl.doubtnut.com/l/_jlCjeeFq0U1N


Watch Video Solution

62. The probability for a randomly chosen month to have its

10th day as Sunday is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

84

10

12

10

84

1

7

https://dl.doubtnut.com/l/_jlCjeeFq0U1N
https://dl.doubtnut.com/l/_QbqcjSSsvu1G


63. In a non - leap year the probability of getting 53 Sundays

or 53 Tuesday or 53 Thrusdays is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

7

2

7

3

7

4
7

64. The probability of occurrence of a multiple of 2 n one dice

and a multiple of 3 on the order dice if the both are thrown

together , is :

https://dl.doubtnut.com/l/_VFPK0MhP3eGg
https://dl.doubtnut.com/l/_jJs0LfLvmPOj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

7
36

1

3

71
36

1

4

65. If A and B are two mutually exclusive events , then :

A. 

B. 

C. 

D. None of these

P (A) < P(¯̄̄B)

P (A) > P(¯̄̄B)

P (A) < P (B)

https://dl.doubtnut.com/l/_jJs0LfLvmPOj
https://dl.doubtnut.com/l/_ncyxKec2VPfp


Answer: D

Watch Video Solution

66. The probability of India winning a test match against

West Indois is  . Assuming independence from match to

match the probability that in a match series India's second

win occurs at the third test is :

A. 

B. 

C. 

D. 

Answer: B

h id l i

1

2

1

8

1

4

1

2

2

3

https://dl.doubtnut.com/l/_ncyxKec2VPfp
https://dl.doubtnut.com/l/_rkgtJzEimd3O


Watch Video Solution

67. A and B play a game where each is asked to select a

number from 1 to 25 . If the two numbers match ,both of

them win a prize . The probability that they will not win a

prize in a straight trial is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1

25

24
25

2

25

https://dl.doubtnut.com/l/_rkgtJzEimd3O
https://dl.doubtnut.com/l/_xzFeg0PHz1Xd
https://dl.doubtnut.com/l/_VkM4HOQbL0Oc


68. A fair die is tossed eight times . The probability that a

thrid six is oberved on the 8th throw is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

.7 C2 × 55

67

.7 C2 × 55

68

.7 C2 × 55

66

69. A dice is tossed 5 times . Getting an odd number is

considered a success . Then the variance of distribution of

number of successes is :

https://dl.doubtnut.com/l/_VkM4HOQbL0Oc
https://dl.doubtnut.com/l/_q6NNhiQCDiUf


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

8

3

3

8

4
5

5

4

70. Five horses are in a rae . Mr . A selects two of the horses

at random and bets on them . The probability that Mr. A

selected the winning horse is :

A. 

B. 

3

5

1

5

https://dl.doubtnut.com/l/_q6NNhiQCDiUf
https://dl.doubtnut.com/l/_g4elGRD900OI


C. 

D. 

Answer: C

Watch Video Solution

2

5

4
5

71. 

then  :

A. 

B. 

C. 

D. 

Answer: A

P (B) = , P( ¯̄̄A ∩ B ∩ ¯̄̄C ) = . P(A ∩ B ∩ ¯̄̄C ) =
3

4

1

3

1

3

P (B ∩ C)

1

12

3

4

5

12

23

36

https://dl.doubtnut.com/l/_g4elGRD900OI
https://dl.doubtnut.com/l/_cyn5FWk2Nd2y


Watch Video Solution

72. A random varticle X has the probability distribution : 

 


For the events E = {X is a prime number } and  ,

the probability  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X : 1 2 3 4 5 6 7 8

P (X) : 0.150.23 0.12 0.10 0.20 0.08 0.07 0.05

F = {X < 4}

P (E ∪ F )

0.87

0.77

0.35

0.50

https://dl.doubtnut.com/l/_cyn5FWk2Nd2y
https://dl.doubtnut.com/l/_1e1bFrclsRM1


73. The mean and variance of a binomial distribution are 4

and 2 respectively . Then the probability of 2 successes is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

37
256

219

256

128

256

28

256

74. If three distinct numbers are chosen randomly from the

first 100 natural numbers , then the probability that all three

of them are divisible by 2 and 3 is :

https://dl.doubtnut.com/l/_hZHBHeiVfHTF
https://dl.doubtnut.com/l/_m2K8SxErWW9w


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4
25

4
35

4
33

4
1155

75. Let A and B two events such that

 where 

 stands for complement of event A . Then events A and B

are :

A. equally likely but not independent

P(¯̄¯̄¯̄¯̄¯̄A ∪ B) = , P (A ∩ B) = and P( ¯̄̄A) = ,
1

6

1

4

1

4

¯̄̄A

https://dl.doubtnut.com/l/_m2K8SxErWW9w
https://dl.doubtnut.com/l/_2Fmgfp0YzJEj


B. equally likely and mutually exclusive

C. mutually exclusive and independent

D. independent but not equally likely .

Answer: D

Watch Video Solution

76. Three houses are available in a localty . Three persons

apply for the houses . Each applies for one house without

consulting others . The probability that all three apply for the

same house is :

A. 

B. 

1

9

2

9

https://dl.doubtnut.com/l/_2Fmgfp0YzJEj
https://dl.doubtnut.com/l/_gjYqxwCmuiDY


C. 

D. 

Answer: A

Watch Video Solution

7
9

8

9

77. A fair die is thrown till we get . Then the probability of

getting 1 in exactly even number of trials is :

A. 

B. 

C. 

D. 

Answer: B

11

36

5

11

6

11

1

6

https://dl.doubtnut.com/l/_gjYqxwCmuiDY
https://dl.doubtnut.com/l/_agWr4Z6EMXio


Watch Video Solution

78. At a telephone enquiry system the number of phone calls

regarding relevant enquiry follow Poisson distribution with

an average of 5 phone cells during 10 - minute time intervals .

The probability that there is at the most one phone call

during a 10 - minute time period is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6

5

5

6

6

55

6

e5

https://dl.doubtnut.com/l/_agWr4Z6EMXio
https://dl.doubtnut.com/l/_TrYufI3QKAjd


79. Two aeroplanes I and II bomb a target in succession . The

probabilities of I and II scoring a hit correctly are 0.3 and 0.2

respectively . The second plane will bomb only if the first

misses the target . The probability that the target is hit by

the second plane is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.14

0.2

0.7

0.06

https://dl.doubtnut.com/l/_TrYufI3QKAjd
https://dl.doubtnut.com/l/_GZEGiaFbMreP


Multiple Choice Questions Level Ii

1. LET A and B be the events such that P(A) = 0.3 and

 . If A and B are independent events , then

P(B) is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

P (A ∪ B) = 0.8

2

7

5

7

1

2

https://dl.doubtnut.com/l/_DwiLfanpNfJ9


2. The probability that a man aged x years will die in a year is

p . The probability that out of n men 

each aged x ,  will die and be first to die is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A1, A2, A3, …. An

A1

1

n2

1 − (1 − p)n

[1 − (1 − p)n]
1

n2

[1 − (1 − p)n]
1

n

3. A determinant si chosen at random from the set of all

determinats of order 2 with elements - and 1 only . The

https://dl.doubtnut.com/l/_ZOXZmnxhgDNy
https://dl.doubtnut.com/l/_Vy6z8WNcABaw


probability that the value of the determinant chosen is

positive is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

16

1

4

3

16

2

16

4. The probability that a man lives after 10 years is  and

that his wife is alive after 10 years is . The probability that

neither of them is alive after 10 years is :

1

4
1

3

https://dl.doubtnut.com/l/_Vy6z8WNcABaw
https://dl.doubtnut.com/l/_hJgbG5epM5e2


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

2

1

12

7
12

3

4

5. The probability of occurrence of an event A is  . The

probability of non - occurrence of the event B is  . The

probability that at least one of them will occur is :

A. 

B. 

5

9
5

11

6

11

5

9

https://dl.doubtnut.com/l/_hJgbG5epM5e2
https://dl.doubtnut.com/l/_CXD3R1ApWxPp


C. 

D. 

Answer: D

Watch Video Solution

4
9

0.8

6. Out of 21 ticket marked 1,2….21 , three are drawn at random

without replacement . The probability that these numbers

are in A.P is :

A. 

B. 

C. 

D. 

9

15

13

261

14
261

10

133

https://dl.doubtnut.com/l/_CXD3R1ApWxPp
https://dl.doubtnut.com/l/_C8AZ9MbZ3poM


Answer: D

Watch Video Solution

7. Two persons throw a pair of dice alternatively till one gets

a total of 9 and wins the game . If A has the first throw , then

the probability that A wins the game is :

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

9

17

8

17

1

2

https://dl.doubtnut.com/l/_C8AZ9MbZ3poM
https://dl.doubtnut.com/l/_RKLmLrMPO2IL


8. If A and B are two events with

 then :

A. A and B are mutually exclusive

B. A and B are independent

C. A is sub - event of A

D. B is sub - event of A .

Answer: B

Watch Video Solution

P (A) = , P (A /B) = and P (B /A) =
1

4

1

4

1

2

9. A person has a bunch of n keys , only one of which exactly

fits a lock . The person tries to open the lock by trying the

https://dl.doubtnut.com/l/_RKLmLrMPO2IL
https://dl.doubtnut.com/l/_EbrTNUcjOCvv
https://dl.doubtnut.com/l/_1jYfpw8bi4Uf


keys at random . The probability that he opens the lock is at

the kth attempt on the assumption that he rejects the keys

already tried is :

A. k/n

B. 1/n

C. 

D. None of these

Answer: B

Watch Video Solution

k − 1
n

10. The probability of India winning a test match against

Indies is  .Assuming indepeendence from match to match ,
1

2

https://dl.doubtnut.com/l/_1jYfpw8bi4Uf
https://dl.doubtnut.com/l/_p3pqqCbfui2V


the probability that in a 5 match series India's second win

occurs at third test is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1/3

1/4

2/3

1/2

11. Three of the six vertices of a regular hexamgon are chosen

at random . The probability that the triangle with three

vertices is equilateral , equals :

https://dl.doubtnut.com/l/_p3pqqCbfui2V
https://dl.doubtnut.com/l/_1NdExtMuql9P


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

1/20

1/10

1/5

12. The chance of throwing a total of 3 or 5 or 11 with two dice

is :

A. 

B. 

C. 

5/36

1/9

2/9

https://dl.doubtnut.com/l/_1NdExtMuql9P
https://dl.doubtnut.com/l/_7CbEj5dV1vb9


D. 

Answer: C

Watch Video Solution

19/36

13. Four persons are chosen at random from a group

containing 3 men , 2 women and 4 children . The chance that

exactly 2 or them will be children is :

A. 

B. 

C. 

D. 

Answer: D

2/9

9/21

10/21

11

21

https://dl.doubtnut.com/l/_7CbEj5dV1vb9
https://dl.doubtnut.com/l/_f3uCtM4VVNar


Watch Video Solution

14. A box contains 3 white and 2 red balls . If we draw one ball

and without replacing the first , the probability of his

travelling by train or plane is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

8/25

2/5

3/5

21/25

https://dl.doubtnut.com/l/_f3uCtM4VVNar
https://dl.doubtnut.com/l/_fwjI4ZKlcMsE


15. The probability that a company executive will travel by

train is  and that he will travel by plane is . The

probability of his travelling by train or plane is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2

3

1

5

2/15

13/15

15/13

15/2

16. There are four machines and it is known that exactly two

of them are faulty machines are identified . Then the

https://dl.doubtnut.com/l/_637XvX4qJSbn
https://dl.doubtnut.com/l/_iY8lTwVVcaYk


probability that only two tests are needed is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1/3

1/6

1/2

1/4

17. A six faced dice is so biased that it is twice as likely to

show an even number as an odd number when thrown . It is

thrown twice . The probability that the sum of two numbers

thrown is even is :

https://dl.doubtnut.com/l/_iY8lTwVVcaYk
https://dl.doubtnut.com/l/_9mjPGzF2hEV6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1/12

1/6

1/2

5/9

18. If P(A) = 65 , P(B) = 80 , then  lies in the interval :

A. 

B. 

C. 

D. 

P (A ∩ B)

[.30.80]

[.35.75]

[40.70]

[.45.65]

https://dl.doubtnut.com/l/_9mjPGzF2hEV6
https://dl.doubtnut.com/l/_MbFGzcM6JxBa


Answer: D

Watch Video Solution

19. A problem in mathematics is given to three stdents A,B,C

and their respective probability of solving the problem is

 . Probability that the problem is solved is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, and
1

2

1

3

1

4

3

4

1

2

2

3

1

3

https://dl.doubtnut.com/l/_MbFGzcM6JxBa
https://dl.doubtnut.com/l/_6eyV1VTf4dGI


20. Events A,B,C are mutually exclusive events such that

 .

The set of possible values of x are in the interval :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (A) = , P (B) = and P (C) =
3x + 1

3

1 − x

4

1 − 2x

2

[ , 2, 3]
1

3

[ , ]
1

3

13

3

[0, 1]

[ , ]
1

3

1

2

https://dl.doubtnut.com/l/_6eyV1VTf4dGI
https://dl.doubtnut.com/l/_quTKblSdq03a


21. The probabilit that A speaks truth is  , while the

probability for B is . The probability that they contradict

each other when asked to speak on a facts is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4
5

3

4

3

20

1

5

7
20

4
5

22. Two numbers are chosen from [1,2,3,4,5,6] one after

another without replacement . Find the probability that one

https://dl.doubtnut.com/l/_J4MTQVwsWno3
https://dl.doubtnut.com/l/_nH5NbxeL4Omy


of the smaller value of two is less than 4 :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4
5

1

15

1

5

14
15

23. A random variable X has Poisson distrbution with mean 2 .

Then  equals :

A. 0

B. 

P (X > 1.5)

2

e2

https://dl.doubtnut.com/l/_nH5NbxeL4Omy
https://dl.doubtnut.com/l/_kZHkvmpS2ZeB


C. 

D. 

Answer: D

Watch Video Solution

3

e2

1 −
3

e2

24. One Indian and four American men and their wives are to

be seated randomely around a circular table . Then the

canditional probability that the Indian man is seated

adjacent to his wife , given that each American man is seated

adjacent to his wife is :

A. 

B. 

C. 

1

2

1

3

2

5

https://dl.doubtnut.com/l/_kZHkvmpS2ZeB
https://dl.doubtnut.com/l/_fSC91mIH121m


D. 

Answer: C

Watch Video Solution

1

5

25. A pair of four dice is thrown indepandently three times .

The probability ofgetting a score of exactly 9 twice is :

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

8/9

8/729

8/243

1/729

https://dl.doubtnut.com/l/_fSC91mIH121m
https://dl.doubtnut.com/l/_YkkWWNXPoBed


26. It is given that events A and B are such that :

 . Then P(B)

is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P (A) = , P (A /B) = and P (B /A) =
1

4

1

2

2

3

1

2

1

6

1

3

2

3

https://dl.doubtnut.com/l/_YkkWWNXPoBed
https://dl.doubtnut.com/l/_ymH2loDMjASA


27. A die is thrown . Let A be the event that the number

obtained is greater than 3 . Let B be the event that the

number obtained is less than 5 . Then  is :

A. 

B. 

C. 0

D. 1

Answer: D

Watch Video Solution

P (A ∪ B)

2

5

3

5

28. Let  denote the complement of an event E . Let E,F ,G be

pair - wise independent events with

Ec

https://dl.doubtnut.com/l/_RCaFPYyLoaUA
https://dl.doubtnut.com/l/_24uAmvsO5c0P


 . Then 

 equals :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

P (G) > 0 and P (EcapF ∩ G) = 0

P(EC ∩ F C /G)

P(EC) + P(F C)

P(EC − P(F C)

P(EC) − P (F )

P (E) − P(F C)

29. In a binomial distribution  , if the

probability of at least one success is greater than or equal to

 , then n is greater than :

B(n, p = )
1

4

9

10

https://dl.doubtnut.com/l/_24uAmvsO5c0P
https://dl.doubtnut.com/l/_MtYUes6M5P8m


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

log2
10 − log3

10

1

log4
10 + log3

10

9

log4
10 − log3

10

4

log4
10 + log3

10

30. One ticket is selected at random from 50 tickets

numbered 00,01,02 49 . Then the probability that the

sum of the digits on the selected ticket is 8 , given that the

product of these digits is zero , equals :

A. 

……

1/14

https://dl.doubtnut.com/l/_MtYUes6M5P8m
https://dl.doubtnut.com/l/_PLVq4i0zlku5


Latest Questions From Aieee Jee Examinations

B. 

C. 

D. 

Answer: A

Watch Video Solution

1/7

5/14

1/50

1. An urn contains nine balls of which three are red , four are

blue and two are green . Three balls are drawn at random

without replacement from the urn . The probability that the

three balls have different colours is :

A. 
1

3

https://dl.doubtnut.com/l/_PLVq4i0zlku5
https://dl.doubtnut.com/l/_M9iY4ZfJ9VWr


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

7

1

21

2

23

2. A signal which can be green or red with probability

 respectively . Is received by station A and then

transmitted to station B . The probability of each station

receiving the signal correctly is  . If the signal received at

station B is green , then the probability that the original

signal was green is :

A. 

and
4
5

1

5

3

4

3

5

https://dl.doubtnut.com/l/_M9iY4ZfJ9VWr
https://dl.doubtnut.com/l/_8JVqUcgCupDd


B. 

C. 

D. 

Answer: C

Watch Video Solution

6

7

20

23

9

20

3. Let  be a complex cube a root of unity with  . A fair

die is thrown three times . If  are the numbers

obtained on the die , then the probability that

 is :

A. 

B. 

ω ω ≠ 1

r1, r2 and r3

ωr1 + ωr2 + ωr3 = 0

1

18

1

9

https://dl.doubtnut.com/l/_8JVqUcgCupDd
https://dl.doubtnut.com/l/_geD2ga5VP7qj


C. 

D. 

Answer: C

Watch Video Solution

2

9

1

36

4. If C and D are two events such that C C D and  ,

then the correct statement among the following is :

A. P(C/D)=P(C )

B. 

C. 

D. 

Answer: B

P (D) ≠ 0

P (C /D) ≥ P (C)

P (C /D) < P (C)

P (C /D) =
P (D)

P (C)

https://dl.doubtnut.com/l/_geD2ga5VP7qj
https://dl.doubtnut.com/l/_08AbODphxm4D


Watch Video Solution

5. Consider 5 independent Bernoulli's trials , each with

probability of success p . If the probability of at least one

failure is greater p , If the probability of at least one failure is

greater than or equal to  , then p lies in the interval :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

31

32

( , ]
1

2

3

4

( , ]
3

4

11

12

[0, ]
1

2

( , 1]
11

12

https://dl.doubtnut.com/l/_08AbODphxm4D
https://dl.doubtnut.com/l/_ox5oTfUF961i
https://dl.doubtnut.com/l/_wt16rIaj4RbI


6. Let A,B,C be pairwise indepeendent events with

 Then  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

P (C) > 0 and P (A ∩ B ∩ C) = 0 P(ACBC /C)

P (A) − P(BC)

P(AC) + P(BC)

P(AC) = P(BC)

P(AC) − P (B)

7. Three numbers are closen at random without replacement

form {1,2,3, ,8} . The probability that their minimum is 3 ,

given that their maximum is 6 , is :

……

https://dl.doubtnut.com/l/_wt16rIaj4RbI
https://dl.doubtnut.com/l/_9jo6ddzSVchb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

8

1

5

1

4

2

5

8. Four fair dice  eac having six faces

numbered 1,2,3,4,5 and 6 rolled simultaneously . The

probability that  shows a number appearing on one of 

 is :

A. 

D1, D2, D3 and D4

D4

D1, D2 and D3

91

216

https://dl.doubtnut.com/l/_9jo6ddzSVchb
https://dl.doubtnut.com/l/_P0z4Xo03Dd6x


B. 

C. 

D. 

Answer: A

Watch Video Solution

108

216

125

216

127
216

9. Let X and Y be two events such that :

 .

Which of the following is (are) correct ?

A. 

B. X and Y are independent

C. X and y are not independent

P (X /Y ) = , P (Y /X) = and P (X ∩ Y ) =
1

2

1

3

1

6

P (X ∪ Y ) =
2

3

https://dl.doubtnut.com/l/_P0z4Xo03Dd6x
https://dl.doubtnut.com/l/_e5ColQ175J9m


D. 

Answer: A::B

Watch Video Solution

P(XC ∩ Y ) =
1

3

10. A ship is fitted with three engines  . The

engines function independently of each other with respective

probabilities  . 


For the ship to be operational at least two of its engines

must function . Let X denote the event that the ship is

operational and let  denote respectively the

events that the engines  are functioning .

Which of the following is (are) true ?

A. 

E1, E2 and E3

, and
1

2

1

4

1

6

X1, X2 and X3

E1, E2 and E3

P(XC
1 /X) =

3

16

https://dl.doubtnut.com/l/_e5ColQ175J9m
https://dl.doubtnut.com/l/_HGgoVIEv5EmE


B. P(Exactly two engines of the ship are functioning /X)

C. 

D. 

Answer: B::D

Watch Video Solution

=
7
8

P (X /X2) =
5

16

P (X /X1) =
7
16

11. Four persons independently solve a certain problem

correctly with probabilities  . Then the

probability that the problem is solved correctly by atleast

one of them is :

A. 

, , ,
1

2

3

4

1

4

1

8

235

256

https://dl.doubtnut.com/l/_HGgoVIEv5EmE
https://dl.doubtnut.com/l/_C2pJRe5AnlBf


B. 

C. 

D. 

Answer: A

Watch Video Solution

21

256

3

256

253

259

12. Let A and B be two such that

 where 

 stands for the complement of the event A . Then the

events A and B are :

A. equally likely but not independent

B. independent but not equally likely

P(¯̄¯̄¯̄¯̄¯̄A ∪ B) = , P (A ∩ B) = and P( ¯̄̄A) =
1

6

1

4

1

4

¯̄̄A

https://dl.doubtnut.com/l/_C2pJRe5AnlBf
https://dl.doubtnut.com/l/_xUhmp3h10Hyu


C. independent and equally likely

D. mutually exclusive and independent .

Answer: B

Watch Video Solution

13. If 12 indentical balls are to be placed in 3 identical boxes ,

then the probability that one of the boxes contains exactly 3

balls is :

A. 

B. 

C. 

D. 

( )
11

55

3

2

3

55( )
102

3

220( )
121

3

22( )
1111

3

https://dl.doubtnut.com/l/_xUhmp3h10Hyu
https://dl.doubtnut.com/l/_eRoNQmFAapWZ


Recent Competitive Questions Questions From Karnataka Cet

Comed

Answer: A

Watch Video Solution

1. A and B are two such that  if : (i) A is

subset of B (ii)  are respectivey :

A. 0,1

B. 1,0

C. 1,1

D. 0,0

Answer: B

P (A) ≠ 0, P (B /A)

A ∩ B = ϕ

https://dl.doubtnut.com/l/_eRoNQmFAapWZ
https://dl.doubtnut.com/l/_rPXHjZFElgKv


Watch Video Solution

2. Two dice are thrown simultaneously, the probability of

obtaining a total score of 5 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

18

1

12

1

9

1

36

https://dl.doubtnut.com/l/_rPXHjZFElgKv
https://dl.doubtnut.com/l/_lmzjp0VJrRCc


3. If the events A and B are independent if  and 

, then  is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (A' ) =
2

3

P (B' ) =
2

7
P (A ∩ B)

5

21

3

21

4
21

1

21

4. A box contains 100 bulbs, out of which 10 are defective. A

sample of 5 bubls is drawn. The probability that none is

defective is

https://dl.doubtnut.com/l/_3UqaioOcGEq5
https://dl.doubtnut.com/l/_5KjKDArGV6Sg


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( )
5

1

10

( )
51

2

9

10

( )
59

10

5. If two dice are thrown simultaneously , then the probability

that the sum of the numbers which come up on the dice to

be more than 5 is _______

A. 

B. 

5

36

1

6

https://dl.doubtnut.com/l/_5KjKDArGV6Sg
https://dl.doubtnut.com/l/_klXfbamr8VTC


C. 

D. 

Answer: D

Watch Video Solution

5

18

13

18

6. A man takes a step forward with probability 0.4 and one

step backward with probability 0.6 , then the probability that

at the end of eleven steps he is one step away form the

starting point , is

A. 

B. 

C. 

.11 C5 × (0.48)5

.11 C6 × (0.24)5

.11 C5 × (0.12)5

https://dl.doubtnut.com/l/_klXfbamr8VTC
https://dl.doubtnut.com/l/_ENXeloK7BtKU


D. 

Answer: B

Watch Video Solution

.11 C6 × (0.72)6

7. A box contains 6 red numbers from 1 through 6 and 4 white

marbles 12 through 15 . Find the probability that a marble

drawn 'at random ' is white and odd number :

A. 5

B. 

C. 6

D. 

Answer: B

1

5

1

6

https://dl.doubtnut.com/l/_ENXeloK7BtKU
https://dl.doubtnut.com/l/_otnemIHtpN0p


Watch Video Solution

8. 6 boys and 6 girls in a row at random . The probability that

all girls sit together is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

l

432

12

431

1

132

https://dl.doubtnut.com/l/_otnemIHtpN0p
https://dl.doubtnut.com/l/_bqkus68H1xdQ


9. An urn contains 9 balls , 2 of which are white , 3 blue and 4

black . 3 balls are drawn at random form the urn . The chance

that 2 balls will be of the same colour and the third of a

different colour is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

45
84

55

84

35

84

25

84

https://dl.doubtnut.com/l/_XdQVJXVKYs7e


10. Three dice are rolled once . The chance of getting a score

of 5 is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

216

1

6

1

36

1

72

11. A bag contains 3 white , 4 black , 2 red balls . If 2 balls are

drawn at random , then the probability that both the balls

are white is :

https://dl.doubtnut.com/l/_ZB8n6L44BeRk
https://dl.doubtnut.com/l/_yPtAEUHwASnP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

18

1

36

1

12

1

24

https://dl.doubtnut.com/l/_yPtAEUHwASnP

